TR2EMFERELER—E ()

Fr hiZEK ) ILAKT 1 TH 5% 6 166, 000 168,000 | -1. TIANT 1 —4—10]

- HTiZEX E8 5T HS5&HES4 159, 000 162,000 | -1.
- FRTTZE X AT 2 % 5 554, 000 595,000 | —6.

A TZEX MISERT 9 % 2 1,330,000 | 1,390,000 | —4.

FLYES Hi4E - 224FAMAG 2UARANIRE | AEhER —
=1 o + - i 9 2 > 71N

EAE 1) PRE - (M/m) | (m/md) | (%) | EEEE
EAS -1 TR ZHR3TH142%4 192, 000 196,000 = -2.0 | M%®3—11-38]
e -2 HETER RME4THL21%2 103, 000 105,000  -1. A4 —1—22)
3 -3 W TERK A5 6 THSET 153, 000 156,000  -1.
3 -4 HETER JIIG2TH2 9%3 7 129, 000 132,000 -2 ie2—16—16]
=3 -5 WX THRH6 TH24%1 04+ 150, 000 153,000  -2. [TMH6—15—10]
EAS -6 FRIETHFE X HELENT 1 22K 2 216, 000 219,000 | -1. THRECERT 1 2 — 2 |
*FE -7 FRRATZEIX VHEEAT 1 9 & 7 239, 000 243,000 | -1. TPEEVENT 19— 16 )
EAS -8 TR W4 3 TH2804%F1 99, 000 101,000 | -2. M43 —11—11)
B3 -9 HTEK FH2TH1E 14 164, 000 167,000  -1. EH2—1—11]
e - 10 Fri thZEX RIKHT 7 5 2% 2 148, 000 153,000  -3.
3 - 11 WX EELE2TH120%55 103, 000 106,000  -2. (@ L2 —5—5]
3 - 12 HTER A1 TH104%3 156, 000 159,000  -1. KB 1—9—2)
EAS - 13 i TEEX BT 2 3 8 202, 000 206,000 | -1. THRIT 2 3 — 1 4
3 - 14 WX BIF1 THS 6 3%2 133, 000 136,000 -2 THERF1 — 6 — 5
e - 15 WX fE1TH175%6 90, 700 93,600  -3. Tl —6—11)
e - 16 WX KE4THG6 4 4% 2% 166, 000 170,000  -2. (h#H4—19—13)
E23 - 17 TR JLZR4TH1064%F2 168, 000 172,000 | -2. TbZesia —4 — 4
3 - 18 WK TE6 THS11%S3 130, 000 133,000 -2 [&FE6 —3—3)
e - WX LR THS 1 7% 7 183, 000 186,000  -1. Y2 —9—40)
e - B W1 TH6EG6 313, 000 327,000 | —4.
e
e
e
e
e

R TR JEIE 1 T H 4% 4 324, 000 341,000 | -5. NEFE1—-4—3)

*5 - B TZE X BAAINT 4 % 3 686, 000 736,000 = 6.
e - X BZE 1 T H 4 3% 444 206, 000 214,000 -3, TEGE 1 —2— 9
e WX ERE3THSE7 294, 000 310,000 | -5. EF3—8—8)
*5 - iR SR 2 TH 6% 8 1,470,000 | 1,530,000  -3.

- A HZEX N TET 2 4% 3 197, 000 199,000 | -1.

- SR BT 2% 1 3 160, 000 162,000 = -1.

FRITZEX R 1 2% 6 172, 000 176,000 | -2.

W THEE X T 2 4% 2 154, 000 160,000 | -3.

HATEX RE2THIOEL 2 151, 000 153,000 | -1. (E@2—-T7—11]
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FriE hiZEX HET2 TH 3% 3 161, 000 165,000 | -2.

ENEENREN RS, RV Rile) Ji) R Gy R R REG) BRI RN RRG REG) BRG]
|

TR MR M1 TH93 1% 11 91, 800 - THHT 1 —2—40)

—_
(e}
|

HmmiEX FE T N5 3 9% 2 56, 200 58,800 | —4.

Fil K 2 OB AIN 1 47 2 65, 000 66,500 = -2.
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S
I

—_ = = | = —_ = = | = —_

Gk lwd =T DIRD S 90N o W= W= w = TDR D BN oo s Wi =D

4
3
10 - X TR 1540%3 1 70, 800 72,500 | -2.3
A - H TR M6 6 7% 1 146, 000 147,000 = -0.7
(530 - wmmsRx AJIE2TH14%6 126, 000 128,000 | -1.6
(530 - T A1 TH7 4% 7 101, 000 103,000 | -1.9 | TAT1-6-82]
*IER AT - iR 2 THS3 2 7%&245 127, 000 130,000 | -2.3 | M2 —14—23]
L5230 - TR KATHIE / A5800%2 8 87, 200 89,000 -2.0
L300 - st PH2 TH204%3 175, 000 176,000 | —0.6 | h@2—5-—34]
(530 - wmmss X b2 TH1417%5 86, 700 89,500 @ -3.1  [EAT2—20-5]
520 - SR PRI E 7 0 5% 1 1 101, 000 104,000 -2.9
(530 - T FH2 TH385%40 152, 000 155,000 | -1.9 | rmm2—11—-18]
(530 - wmEsREX EA 1T H 1 7 184S 128, 000 131,000 | -2.3 | Mg#1—12-24)
(530 - grmise R NES TH2 4% 1 132, 000 134,000 | -1.5 | T/ME3—8—38]
A - EE TR WIS HEE 1 17 4% 2 4 120, 000 121,000 = -0.8
(530 - e X FREARHERE4 7 8% 4 91, 500 94,600 @ -3.3
520 - FrmiE R FETHE 2 2 0% 5 108, 000 111,000 = -2.7
BRyl 5 - T NE1TH36 4% 14+ 142, 000 147,000 @ -3.4 | E1—-24-28)
BRyl 5 - wmEmsEEx AH1TH20%E1 210, 000 210, 000 0.0 [HM1—1—-34]
BRW] 5 - wmEmssEx &2 T H 6 & 94+ 199, 000 202,000 | -1.5 | T\E2—11—9]
BRyl 5 - wmmEsRE X NE3TH 1 4 785 166, 000 170,000 | -2.4 | /hB3—-8—11)
BRW 5 - g miER K FEHTHTE T 1 25% 1 157, 000 162,000 = -3.1
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FEUEH A4 —— 224FAMAG 2UARANIKE | A EhER .
A i (m/m) /D ()RR
BRI 5 6 BRI X HEHAET 1 3 9 0% 3 176, 000 180,000 | -2.2 | [fiEAN55—70]
BT 5 7 e e 6 TH29 1% 1 353, 000 348, 000 1.4  T#i46—4—28)]
By 7 1 S miss FHH 1 TH26 5%6 106, 000 107,000 | -0.9 | T#HimH1-13-16]
BRI 7 2 MmN FAAE 3 TH42 1% 1 107, 000 109,000 = -1.8 | ME%ef%3—16—5]

BRwl 7 3 wem R TR 7 5 3% 3 87, 200 89,600 = -2.7
Bl 7 4 e F)IE6 TH2 6% 3 114, 000 120,000 | =5.0 | [FJIE6—26—8]
B 9 - 1 widETR FEHEH 1 TH480% 1 1 85, 000 85,800 @ -0.9 [E&Em1-3-27)
BRyl 10 - 1 T RT3 2 7% 34+ 44, 000 45,500 @ -3.3
*E K 1 AR EACET 4 5% 140, 000 143,000 = -2.1  TE{Er8—1 7]
1Bk 2 FrmiEAR —RTITM8 5 2% 1 5 60, 700 62,700 -3.2
157K 3 kK B2 5 8F 7 104, 000 106,000 = -1.9 [TF®p18—1]
1Bk 4 HmEAR Y HBRTREET1 80K 10 113, 000 115,000 = -1.7
1k 5 HTiEAR B2 TH1585%2 102, 000 105,000 -2.9 | [&H2—11—20]
1Bk 6 HrA TS AR JRRIETFRE Y 4 4 7% 9 87, 500 89,800 = -2.6
1K 7 wmiEAR fTF4THS598%F1 3 67, 300 69,300 -2.9 | HiF4—9—-19)
157K 8 H AR =GR 3 4 53 1 4% 120, 000 122,000 | -1.6 | T=ymr5—2 3]
157K 9 e Akx FH1TH116%E 122, 000 124,000 @ -1.6 | [HH1-5-35]
157K 10 g miEAR LRI 063F1 9 118, 000 120,000 = -1.7
Bk 11 HMEEAkX AR 1ITH228%50 121, 000 123,000 | -1.6
1Bk 12 B TSR MM E2 TH1357%29 107, 000 110,000  -2.7 | TEHHE2 —8 — 5
1Bk 13 AKX AHHEHET 2 6 0% 14 131, 000 134,000 -2.2 | TR 3— 9]
157K 14 AR ) FHRIAH 3 6 % 4 101, 000 104,000 | -2.9
157K 15 FRITTIEARR PFEART-HITIIN2 2 8% 1 7 110, 000 113,000 2.7
Bk 16 B mEAIX JHEMIRTAR 1 3 0% 14+ 61, 000 63,700 = -4.2
Bk 17 s miE AR R T EIERS 6 67K 3 6 70, 600 75,700 @ -6.7
1Bk 18 H AR R RR AR E 3 0 4 K 2 75, 900 77,400  -1.9
*JEAK 5 1 kR GHET2 TH1 2% 159, 000 163,000 | -2.5 | [7#Arz—10-22)
BAK 5 2 wEmEKX SR 2 8 9% 147, 000 151,000 | -2.6 | T4E3— 5]
BAK 5 3 wEmEkx KEE1TH4 2961 146, 000 147,000 | -0.7 | [KF1-3—-10]
BAK 5 4 wEmEAkx BT 1T H 3 2 99 133, 000 136,000 | -2.2 | [#ET1—5—10]
HK 5 5 wmiEAkR AJL3TH1196%2 121, 000 123,000 -1.6 | TAIT8—3—11}
HK 5 6 wmiEAR BHE1THL O 8% 201, 000 204,000 | -1.5 | T#%1—8—16]
EAK 5 7 g kR KFELTH 7 9% 34+ 127, 000 129,000 -1.6 | TKF1-7-13]
WEAK 7 1 ik EgRdbET 2 5 5% 4 76, 200 78,500 | —2.9 | TENECLATO — 4
B 7 2 Bk RIFFRIES 6 1 9% 14+ 65, 100 66,200 @ -1.7
w7 3 e K AT TR 5 8 4% 14+ 74, 200 77,100 | -3.8
B/ 7 4 AR R T ES 1 4 5F 2 65, 100 68,100 | -4.4
WAk T 5 | TR HMEkx LT EET T 9 3% 5 44 70, 500 - -
B 7 6 GBEE \HmtEAR BT RETEMN 8 3 & 76, 100 - -
) 1 i mEAR E5)IFEHA S 0 0% 1 70, 500 72,900 | -3.3
Bk 10 - 1 ERA TS AKX B RETE R I3 7 4% 2 1 57, 300 60,000 4.5
Bk 10 - 2 WK B RT RS2 9 9F 74 64, 500 67,500 4.4
HH 1 AT KT 3 2 6 % 1 87, 200 88,300 | -1.2 TEMEI12-19]
i 2 ERTTHRX EE1TE27 4% 89, 200 90,300 -1.2 | Mgkl —34—3)
i 3 ERHTX mfE1 THI9SEL 84, 200 85,600 -1.6 | MffE1—-19—12)
i 4 ERTPR BWE3TE19725%1 54 114,000 115,000 -0.9 | M3 —4—21)
i 5 ERTPX s 6 TH125%1 14+ 110, 000 111,000 -0.9 | =46 —25—6
*Hp 6 ERHFX 2 TH294%F15 83, 800 85,700 | -2.2 T#£2-37-10]
H 7 TR EEHE 1 THG6 3 7%&2 81, 000 81,500 | —0.6 | [E#%kHE1—9—38]
i 8 TR AR 7 8 0F 84, 000 85,300 | -1.5 | THAN37—5]
H 9 ERT X BAR3THS 99%F 1 98, 600 99,200 @ -0.6 | (@E#3—12-35]
H 10 AT X PEPHGET 2 7 7 0% 2 92, 800 94,000 | -1.3 | T2 8—20)
*Hp 11 ERF X (TR 4 8 9 9% 64+ 134, 000 136,000 -1.5 | MUFHT3 7 — 3]
i 12 TR EHEMT4AH1299%3 4 83, 600 84,900 @ -1.5
HH 13 EIRTH X SCERT 1 8% 5 80, 000 81,200 @ -1.5 | [XEAr18—8]
H 14 ERHTX A2 TE332%&10 102, 000 103,000 | -1.0 | Mdk2—13—-15]
H 15 EMHHX 321 TH233%2 78, 000 79,600 | -2.0 [#1-1-25]
i 16 TR FiARr5fhsE2 3 7% 34+ 69, 000 70,500 | -2.1
HH 17 TR mEdb1 TH1I32%7 86, 200 88,100 | —2.2 | MmEdk1—-32—6]
h 18 ERTHHRX NEHE1 TH4 0 9% 54+ 79, 000 80,500 @ -1.9 | ThEH1-36-21]
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FEUEHE Hi4E - 224FAMAG 2UARANIKE | A EhER .
& B F% FRE - s (A/nd) | (/) (%) EEET

H - 19 EIRHTX k4 THS515%20 84, 000 85,000 | -1.2 | [#KE4—15—28)
H - 20 ERHFHX 23 TH643%16 80, 700 82,700 | -2.4 T#3-16-43]
i - 21 EREPRK EE2TH1L149%1 82, 500 83,000 -0.6 | [kE2-21-23]
i - 22 ERTPR B2 TH1177%5 98, 800 100,000 | -1.2 | M#Epg2—8—15)
o5 -1 WX WEH2 THL15%2 103, 000 104,000 | -1.0 | ME&HE2—15—3]
b5 - 2 ERHX TR 3TH L 8 0& 24+ 102, 000 103,000 -1.0

*fF 5 - 3 TR AR 0 2% 1 34+ 241, 000 243,000 = -0.8

5 - 4 ERTHTX K5 THS 7 9% 14+ 102, 000 104,000 | -1.9 | T#@#k5—6—15])
5 -5 ERH X 1 3 2% 1 4 145, 000 147,000 -1.4

5 - 6 ERAHTX P2 TH110%18 220, 000 221,000 = 0.5 | MHk2—10-22]
o5 - 7 ERATTHRX FREERTS-HREERT 5 9 & 103, 000 104,000 -1.0

5 - 8 ERTTHRX TR %E7 15E 1 365, 000 378,000 @ -3.4

o5 -9 ERTTHX HIT3 2 4% 7 232, 000 240,000 | -3.3

5 - 10 ERHTX BFOTER2 8 6% 1 107, 000 108,000 | -0.9

o5 - 11 ERATTX HHT3 1 6% 38 295, 000 303,000 @ -2.6

o5 - 12 ERTHHX FE1TH106 1% 93, 000 95,000 -2.1 | M1-36—3)
5 - 13 TEAATTHRX HHERT S M 6 9 5 &4t 101, 000 102,000 -1.0

o5 - 14 ERATPX RHT2 15%2 7 118, 000 119,000 = -0.8

5 - 15 ERTHX TERT1 27%2 5 111, 000 112,000 -0.9

5 - 16 ERHHPX ER2TH370%47 99, 000 101,000 -2.0 | I%E#2—13—3)
o5 - 17 ERHPX A5 THL 2 8% 24 114, 000 116,000 | -1.7 | Memsas5-28—2]
o7 -1 ERTTPX N GEE3TH1416%7 74, 500 75,600 | —1.5 | ThEBE3-11-18)
R -1 ERTTHRX ST 1 2 8% 3 82, 000 83,300 -1.6

* I -2 AT R _EPERT T 2 6% 8 94, 300 95,700 -1.5

H -3 TR KW 5B e 2 7% 9 7 71, 300 73,100 | 2.5

R - 4 TEATT X A HAT ST 5 2 3% 6 65, 500 66,200 @ -1.1

W -5 ERTHEX L5 TH21 48%4 86, 000 87,500  -1.7 | TEmEII5E—12—9)
H -6 ERAT X PR EREEIL3 9 8% 14+ 61, 100 62,100 | -1.6

" -7 AT HRX FERARAT AT 1 0 7% 24} 78, 800 80,000 -1.5

W5 -1 LT RX EHRAT2 4 4% 2 04 92,100 94,000 = -2.0

W5 - 2 EATTHRIX FIEATS S 7 9 3% 2 122, 000 126,000 = -3.2

W 5 - 3 TEAATH B 8 o WEET VI HIH 1 3 6 4 1 89, 800 90,700 -1.0

w7 -1 AT X FEPET TR 1 9 & 59, 600 60,700 = -1.8

W10 - 1 TR W2 IR+ T %16 1 5% 1 62, 500 63,100 | -1.0

W10 - 2 ERTTHRX FXIF—TH194%6 46, 400 46,800  -0.9

i) - 1 BER ERTHAEX EHETHE300%F9 1 71, 000 - -

[ié] - 2 AT X BEFHAT I 4 1 1% 56, 000 57,000 | -1.8

[ié] -3 TEAA T VE K 4L FET TS 2 4 5 5% 1 46, 500 49,000 | -5.1

i) - 4 TR AT EZRERT7 9 2% 3 86, 900 87,900 | -1.1

i) -5 AT R FEAT2 0 5 6 0% 64, 000 65,100 @ -1.7

[ié] -6 TEAA TV X SEBRET TR 4 1 6 97K 2 56, 400 58,900 | -4.2

[ié] -7 AT X MRITARSETEES 15 454 44, 500 46,600 -4.5

[ié] -8 TEAATH TG X MBI AT /b4 7 6 1% 1 74, 200 76,900 | -3.5

[ié] -9 TEAATH VG X HEBEHT (LR ATRT 3 5 4 2 7 2 4¢ 49, 500 51,700 | -4.3

w5 -1 TEAATH VG X SERRET S FTET 1 9 7 6 % 1 61, 600 63,900 -3.6

w5 - 2 RN TTPE X RERSHT R0 R0 I 7 9 9 5% 1 73, 700 76,400 | -3.5

o7 -1 ERTVEIX BEEKETEET 6 9 8 & 57, 600 60,200 -4.3

W10 - 1 EARTPER PEILET S Y 105 5%8 4 61, 000 62,300 @ -2.1

£ -1 ERTIREK BT TFESM 1 5 3 5% 51, 500 52,600 -2.1

£ -2 TR FITERMERT 6 4 0% 2 73,700 75,100  -1.9

£ -3 TR BME2 TH1717%23 41, 500 43,800 | 5.3 @Kz —14—3)
£ - 4 TEAATIREIX HEEAT 1 6 4 0% 1 74, 500 75,700  -1.6

£ -5 ERTTHEX =S5 E5 8 9% 3 76, 000 76,700 | -0.9

£ - 6 TEAATRIX AT 3 33K 6 80, 400 81,000 | -0.7

moo9 -1 TR IX RN B 1 7 03 1 4+ 45, 000 47,000  -4.3

B 9 - 2 EAATTRIX AREAT5FE 3 2 53 34+ 48, 600 49,900 = -2.6

B 10 - 1 TEAATRX /NRERT AL S 4 2% 2 53, 700 55,300 | -2.9

B 10 - 2 ERTREX AP RM7 0 1% 51, 500 52,400 @ -1.7

B 10- 3 IEATTRIX FER 5 AH 1 8 5 0% 62, 100 63,300 -1.9

B 10 - 4 ERTREX HIF—FS 0 7 7% 2 59, 000 59,500 @ -0.8
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FETEH [FKES . 204FAMIRE | 214FAMIRE ASEhER .
E 5 EE PRAE - 4% (M/m)  (m/md) | (%) EERE
M 10 - 5 ERTEK AR 879 3%2 58, 000 58,500  —0.9
M 10 - 6 ERTEK ARSI THA 6 96K 7 49, 000 49,700 | -1.4
v -1 TEAATHACIX. #THT Ikt 8 8 8% 2 2 5 47, 700 49,400 | -3.4
ik - 2 IEAATTALIK IS FL% 16 16%3 5 41, 100 42,700 | -3.7
v - 3 TERATHALK BIARTHPAFITPER 5 6 8 % 1 8 38, 800 40,200 = -3.5
v - 4 TEAATHACIX BIHERT &4 T4 1 58 0% 2 9 48, 900 50,400 | -3.0
I 5 -1 ALK MG A mT 9 8 9% 1 oW 59, 600 61,500 -3.1
dt 5 -2 TANTTAL BIENT A FIT M 6 5 7 % 4 4+ 46, 000 48,000 4.2
& 5 -3 FERATALX =, BT =, HEWHO 14%4 5 58, 000 61,400 @ -5.5
b 10- 1 EARTAEX. =5HRT 2 1 4 5% 144 61, 600 63,400 | -2.8
b 10- 2 TR AT/ N T ER 2 8 9% 9 31, 600 32,600 | -3.1
& 10- 3 ALK =4 BUFAM IR 1 0 27/ 1 744 47,100 48,500 | -2.9
& 10- 4 IEAATTILIK =4 ANFAHRFHA5 8 2% 1 64 20, 000 20,700 | -3.4
el -1 TR FEERTAANRGE 3 3E6 65, 800 66,200 = -0.6
*dk -2 ERTTEALK M 4 1 7 74, 500 75,000 | -0.7
eS| -3 WAL B2 15 5% 78, 000 78,500 @ —0.6
ik 5 - 1 R TEALR MAFRM 4 34 9% 1 14+ 85, 800 87,500 = -1.9
AL 10 - 1 w0 EIEES 8 9 % 544 48, 700 49,500 @ -1.6
AL 10 - 2 ERiEdbR SEE 2 9 3 3% 24k 52, 400 52,900 -0.9
AL 10 - 3 waEdeE AR TIRE 2 14 7% 40, 300 41,000 | -1.7
K -1 EptiREX KATHES 4% 1 3 42, 800 44,800 | -4.5
Kt - 2 AT RER RSN TRE L 2 9% 11, 600 12,100 —4.1
Kt -3 IR R HEAEETA FEEM 1 5 8% 1 14+ 7, 400 7,800 | 5.1
K - 4 TR RER LT AF /7€) 56 2%15 4, 500 4,700 @ -4.3
K -5 AT RER FEILET T EILTES 2 4 7&K 9 1,610 1,680 | -4.2
K - 6 R A RIITEART 2 6 6 23 1 12, 000 12,600 | -4.8
KRE -7 TR ER AN RAESR 1 6 7 6 % 2 13, 300 14,100 = 5.7
K -8 weHAER KEMNHEEFE 3383%F 1 14, 000 15,000 | 6.7
K 5 - 1 ERH RGN (RRTEETYIE 16 0% 1 56, 800 59,500 | -4.5
Kig 5 - 2 TR AR 2 8 4 6% 3 2 4 16, 500 17,900 | -7.8
K 5 - 3 wehAER KEMTHRIEFE 259 3% 18, 000 19,600 | -8.2
THHE -1 R KIUET5 0 8% 1 4 149, 000 149, 000 0.0  THLWr13—7)
THHE -2 R FAASINT 5 5 6 % 4 121, 000 123,000 | -1.6 | [EEAMIT13—20]
R - 3 HHET ETFEHE4 2 4% 14+ 75, 000 77,000  -2.6
R - 4 AT THEETA/ H802%26 102, 000 103,000 | -1.0
THHE -5 R HHBT6 7 9% 3 124, 000 125,000 | -0.8 [#MET33—38]
*VHEE - 6 AT EHAETH B3 4 7% 6 138, 000 139,000 = -0.7
THHE -1 R FRERT 2 7 6 & 110, 000 111,000 0.9 | THh#EIT20— 15
R - 8 R AFMT 85 0% 4 114, 000 116,000 | -1.7
R -9 HHET Frmml1702%44 99, 000 101,000 | -2.0
R - 10 HHET ARTHEET6 8 9F 1 9 97, 800 99,000 | -1.2
THHE - 11 R FHT9 2 9% 3 120, 000 121,000 @ -0.8 | [#HWT24— 3]
R - 12 HHET EENT 1 3% 7 116, 000 117,000 | -0.9
ipes - 13 R IWEHR144%4 136, 000 137,000 -0.7 | hFH15—5]
R - 14 HHET FERMTH®E 2 7 4% 24 114, 000 115,000 | -0.9
ipes - 15 HHET BEE1 7H1 7 102, 000 103,000 -1.0
THHE - 16 R B 8E 1 34+ 94, 500 95,000 | -0.5
ipes - 17 R JFHTEE130%F 17,900 18,500 | -3.2
ipes - 18 HHET FHESR1574%1 04 37, 700 39,800 | -5.3
B 5 - 1 HHET T 1 9 7% 84+ 109, 000 110,000 | -0.9
Wi 5 - 2 AT KFEMS5THT1HETH 330, 000 342,000 = -3.5 | TKFERI5—8— 2]
W 5 - 3 AT KFEMMS5TH170% 282, 000 283,000 | —0.4 [KFH5—5—3]
Wil 5 - 4 AT T 1 23 3 168, 000 169,000 = -0.6 | T¥EET12—3)
W 5 - 5 HHET “[EHBT7 6 8% 2 141, 000 143,000 -1.4 | T=p@EmT13—45)
W 5 - 6 AT FHHT7 8 33 34+ 151, 000 153,000 | -1.3 (%55 —5]
*HE 5 - 7 R KFEMS5THS 7& 24+ 391, 000 395,000 = -1.0 | TKFR5—2— 3]
Hig 5 - 8 HHET FHFEAE4L410%E13 74, 000 77,000  -3.9
HHE 7 - 1 HHET FAFET 4 1% 1 103, 000 103, 000 0.0
W 7 - 2 AT BAWRT2TH1217%5 117, 000 118,000 | -0.8  [@EdiT2—14—7]
B 9 - 1 HHET NG T AN 9 0 9% 56, 500 58,500  -3.4
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FEHUEH FIEE - 22 21 B _
£ B ®E P - i3k (i R Koy EERT
W 10 - 1 B ZHFE)N6 84F 1 14+ 60, 500 62,000 | -2.4
Wi 10 - 2 HHET PEHZGETPEET6 1 5% 1 2 46, 700 48,200 | -3.1
W 10 - 3 HHET KEFHE2 87 474 3 4 67, 000 68,700 2.5
HHE 10 - 4 HHET — AT THES 0 5% 65, 200 67,000 | -2.7
A 10 - 5 HHET A)NFHIEG6 75%8 52, 000 53,800 | -3.3
g -1 BT FELTIER 4 4 276 58, 800 59,400 -1.0
it -2 BT RITE EATER1 4 0% 5 48, 300 48,800 | -1.0
B - 3 BiEti  RET16 0 1% 1 84+ 72,100 73,000  -1.2 | (a5 —2 3]
it - 4 BT PEILET6 0 1 &1 4 69, 200 70,200 -1.4 | [PGL0r3 8 — 5]
it -5 BT HHER1883%FK 124 59, 200 60,000 | -1.3 | TiF%EmT 1 — 3]
it - 6 BT FEETERBES19%9 57, 300 58,500 = -2.1
g -1 BT TEEFHFH3 8 3%K6 58, 200 59,400 & -2.0
ity - 8 Bt HPELFELR1120%1 74 54, 000 54,800 | -1.5
g 5 - 1 Bl MEART1 8 4% 5 148, 000 151,000 -2.0 | THEAI4—19)
*Bl 5 - 2 BT RIERT 3 5 7% S 146, 000 149,000 | -2.0 | T4RAERT5 — 9
Byr 5 - 3 T TZHETWM4 3 3554 70, 000 71,500  -2.1
= -1 =& FRIRAT 4 7% 3 100, 000 101,000 -1.0
* = - 2 =B KERT2TH354 7%?2 151, 000 151, 000 0.0 [KEN2—13—15]
= -3 =& AHFME231 3% 92, 200 93,000 -0.9
= - 4 =& B2 6 4% 5 8 123, 000 124,000 -0.8 | TFEHT 13— 28]
= -5 = HMRATHT24%5 94, 500 95,000 | -0.5 [ff4—33—17]
= - 6 =& HAHT1TH702%10 139, 000 140,000 0.7 | THAN1—3—27]
= -7 =BH  KHI8 8 4% 7 139, 000 140,000 | -0.7 | f#wr1—12)
= - 8 = FHET5 2 5% 6 138, 000 139,000 | -0.7 @ [dmmr7—27)
= 5 - 1 =& AET1747%F1 183, 000 184,000 | —0.5 | [AW3—36]
= 5 - 2 =& FFHT2 6 3 5% 54k 176, 000 178,000 | -1.1 | I#Hmr9—27]
= 5 -3 =& JEHIT1 39 0% 2 153, 000 154,000 | —0.6 | Tdcmmre —2 1
*=B 5 - 4 — B —&HT2 70 0%6 45 301, 000 303,000 | -0.7 | I—&M15—21]
=B 10 -1 =B AEFRAL1982%ES56 67, 500 68,000 | -0.7
=B 10 - 2 —BH O ERTTES/H436F10 43, 500 46,000 | -5.4
BEE -1 BELEEH OMNEVRE481%F 61, 500 62,800 2.1
BEE - 2 el JFEF1 38 7% 64, 000 65,500 | -2.3
T -3 BLEW rWEHETEARA 108K 4 40, 000 40,500 | -1.2
T - 4 BLEW rWEHETETER3320%2 4 51, 000 51,800 @ -1.5
BLE -5 BLEm WARTHIR46 3F3 42, 000 44,500 @ -5.6
BLE - 6 BLEm AMHET 1 55%9 44, 500 46,000 | -3.3
e -7 BrhEm EINeT2 5% 1 1 61, 500 63,500 | -3.1 | MEEr11—12)
BLt® - 8 BLEW #xAKHT5 7 9F 55, 900 57,500 -2.8
CENCE el R4 7 4% 68, 100 70,200  -3.0
BLE - 10 BELEm ERTHARN380FG6 50, 200 51,300 @ -2.1
BrEE - 11 BEEW MRTHER1638%F194 48, 500 50,500 @ —4.0
BLE - 12 BLEm /MR TIKHE566%F10 54, 200 56,000 | -3.2
sE+E - 13 BEhEdH EHEOEET8 1 2% 71, 200 73,500 @ -3.1
BEE - 14 BtET KPEFTHA857%4 48, 500 51,300 | -5.5
BLE - 15 BELEm BHFHN989%F 1 14+ 51, 800 54,600 = -5.1
BEtE - 16 BlEth ErLR,rE846% 57, 500 59,000 | 2.5
BLE - 17 21 HhET PMTRMKT 74F10 26, 500 27,500 @ -3.6
BLE - 18 BEE FLEm ABTHEA3890F11 22, 500 - -
BLtw - 19 283 HhEm ERMTTEHRIL8 4 0FS54 9, 000 9,300 | -3.2
gtE 5 - 1 FLEH KEH16 2% 4 92, 000 95,000 @ -3.2 | [KHNI13—6]
BtE 5 - 2 BLEH NIV RE6 9 1FS 67, 000 69,200  -3.2
g+® 5 - 3 BhEd TEr643%15 69, 000 72,000 | 4.2 | (75077 —6 ]
BLE 5 - 4 EEET HET1621%1 64 79, 500 83,000 | -4.2 | THET2—14]
*E1E 5 - 5 ELEH FEET501%F1 74, 700 78,500 -4.8 | [7GHr26—1 8]
BtE 7T - 1 BLEl O IWETFHR2 26 0% 34+ 28, 900 29,000 -0.3
BLE 9 -1 BLEm RTFREIEE 4 3% 1 30, 900 31,000 | -0.3
BE 10 - 1 ELEm BARTERNE678F1 23, 000 24,500 6.1
BLE 10 - 2 BrhEm MLUFBIR1001%S3 17, 100 17,700 | -3.4
BE 10 - 3 ELrEm dblTFHAR 436 7EA4 24, 500 25,400 | -3.5
BE 10 - 4 BrhEm RTARE2494%F1 24 33, 800 35,300 | —4.2

*ETHIA AR & o3
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R FIEE - 224FAMAG 2UARANIKE | A EhER .
E B R P - i (M/nd) | (/D) (%) Rz
BLE 10 - 5 BrhEm AT AR1799%F3S8 28, 200 29,000 -2.8
e 10 - 6 BELEH HEATHEAIT384%F2 39, 800 42,000 = -5.2
sLE 10- 7 BrLEH THRTHO649%A4 27, 500 28,600 @ -3.8
R -1 FH RS 581 194%26 38, 100 39,300 | -3.1
R -2 FHT JZEFBAMINL 18 2%3 3 14 50, 800 53,100 @ -4.3
R -3 FHT BRI 1317%3819 21, 000 23,400 | -10.3
PR 5 -1 FH BI1TH127%2 145, 000 147,000 -1.4 | i1 —16—12]
PR 5 - 2 il FTOW2THI1E1 64+ 81, 000 82,700 | -2.1 ™HoMN2—6—3])
R 5 -3 FH PRAERT 5 2 4 3% 7 91, 000 92,400 | -1.5 | T#R4ENT3 — 2
PR 5 - 4 FHT MAE1TH157%2 87, 000 88,500 -1.7 | IB#HE1—2—5)
PR 5 - 5 FH FHEFRE1814% 1 44+ 90, 000 90,600 = -0.7
55 H -1 BT faf%1 - BT R 13 0% 64+ 60, 400 61,300 -1.5
* 55 H -2 = FRLlT 4 2% 3 83, 200 84,200 -1.2
5= H -3 BT B3 THES506 1%&7 75, 600 76,300 | 0.9 K3 1214
55 H - 4 BT #1159 9% 43, 700 45,200  -3.3
¥ -5 = MAaTH 111 7%24 60, 700 61,600 -1.5
¥ - 6 BT EH3TE221%E 70, 900 71,800 | -1.3 b3 —18—23)
¥ -7 BT SRR 3 2 2 4 %A 59, 300 60,300 -1.7
5= H - 8 BT BHKRENT1737%6 52, 100 53,100  -1.9
¥ -9 BT JIHRITZ L \iRT 1 0 8 0% 6 31, 000 32,500  —4.6
i - 10 & T JIARMT 3 LG = 4 9 7 % 2 17, 000 17,800 = -4.5
EmHo5 - 1 = Ki@E7THEHS8406%F1 78, 800 80,300 | -1.9
EH 5 - 2 = RKE2THAE4 103, 000 106,000 = -2.8
BHE 5 - 3 = ENXRIT3 9 7% 1 60, 500 62,100 -2.6
BH 5 - 4 B T JIRRMTZ L1456 5 03 9 45, 800 48,000 -4.6
BH 7 -1 BT M2TH6430% 51, 800 52,500 | -1.3  [f2—21-8]
EEo9 - 1 = WHT2 09 3% 1 33, 800 34,300  -1.5
BL -1 =] HETRIES16%&F15 72, 000 73,000 -1.4
BL -2 EREsi MATHH3 1%&20 80, 700 82,400 | -2.1
=+ -3 =] JEEFTN%1896%6 1 60, 000 61,200 = -2.0
s -4 ERERI EAFEF 36 285 61, 000 62,000 -1.6
s - 5 ERERI JIEHTET 1 9 0 FSh 90, 500 91,000 -0.5
R - 6 =L fREFELFEET7THEL O 66, 800 67,900 -1.6
s -7 i) KPFHK /R 9 535 24+ 51, 200 53,000 -3.4
=+ - 8 =] MEFEEFEF659%F10 55, 500 57,500 @ -3.5
*E -9 =] EAMFE1ITH2111%S8 77, 500 79,500 | -2.5 | TEAMRE1—7—5]
R - 10 = FHJNENT 16 7&2 4 70, 500 72,500 | 2.8  TFHRIKNT6 —2 2 |
[ - 11 =] HIEHT 4 2 0 &S 117, 000 117, 000 0.0
=+ - 12 =] JNESHT1 5 53 98, 500 99,500 = -1.0
R - 13 EREsi BIFFREIR343%2 64+ 65, 000 66,500 -2.3
w1t - 14 i) FHETHREH1085%3 62, 000 62,800 -1.3
R - 15 = BT 4 6 & 71, 000 72,500 | -2.1
R - 16 EREsi DARTFTEIMS 9 4% 3 63, 000 64,200 -1.9
BL - 17 ERERI RHHEENT19 7HF1 49, 300 50,700 | -2.8
R - 18 ®ERE &Ll WEEE1388%165 75, 000 - -
w1t - 19 i) “YRTHARFEI2EL 1 57, 500 59,000 = -2.5
"+ - 20 i) JEFEFHE 138 7%/ 1 2 71, 000 72,400  -1.9
R - 21 il HETFEREF304%3 73, 300 74,500  -1.6
[ - 22 =] R RERREL0 2% 1 1 77, 500 79,500 @ -2.5
"+ - 23 =] KRili1461%26 64, 000 65,700 -2.6
B - 24 =] AFASEHMT 1 0 1 53 1 64+ 73, 000 74,500 | -2.0
B - 25 =] FRETRMINFS 78%18 102, 000 103,000 | -1.0
G - 26 i) AR 4 9% 1 14+ 86, 500 87,000 -0.6
n - 27T BER FLM MEFAEFREEL192%15 81, 700 - -
[ - 28 BER Ll FEHEET 8 0 F4h 90, 000 - THE T 6 — 8 |
[ - 29 =] h2 T3 6 59%5 63, 500 67,500 -5.9
G - 30 EREsi MR THR 28 3 6% 3 41, 000 46,000 -10.9
w5 - 1 EEsi FRETEERO 3 9% 1 1 67, 500 69,500 -2.9
wEt 5 - 2 ERERI RT3 7 4% 7 98, 000 99,000 -1.0 | [EAT17—1 3]
=+ 5 - 3 i) HELHT7 3 8% 105, 000 108,000 2.8 | I&+mr14—6]
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FETE A4 ——— 226EMMRS | 214K A@hER _
EA 1) PTE - (M/m) | (m/md) | (%) | EEEE

5] 5 - 4 EEsi JNEET 7 9% 121, 000 123,000 -1.6

5] 5 -5 ERERI AMiEFEA125%2 8 99, 000 102,000 -2.9

5] 5 - 6 ERERI HER2TH230%34 102, 000 106,000 -3.8 | T&E2—6—4]

5] 5 -7 =] HEIT2 2 1%&2 106, 000 108,000 -1.9

*FE+ 5 - 8 ERERI AEHT3 0% 11 110, 000 114,000 -3.5 | AR 10—1 7]

5] 5 -9 EREsi ATl JH1 3%S 63, 500 67,500 -5.9

5] 7T -1 ERERI HHF TR 1 3% 14+ 77, 000 77,500  -0.6

5] 9 -1 ERERI ASRFH ARG 1 7H25 39, 000 39,100 | -0.3

5] 9 - 2 =] KETH+E2 46 5%4 42, 500 42,800  -0.7

=+ 10- 1 =] ERTERY537%6 6 46, 000 48,000  -4.2

Lt 10- 2 EREsi fGiEFHRRT1 2 7 3% 1 59, 500 60,000 -0.8

w1t 10- 3 =] KFFIE2855%3 47, 000 49,000 | 4.1

Hwt 10- 4 =] JNWRTFATERS 9% 2 43,000 45,300 | -5.1

*# -1 AT FEFRHH2 7%1 6 81, 000 81,600 -0.7

M - 2 AT TZEHE16%F1 145+ 73, 800 74,500  -0.9

# - 3 AT HFRFAEME3035%2 1 55, 200 55,800 | -1.1

# - 4 AT ETRIT2TH2%1S 70, 000 70,300  -0.4

2 -5 A T Wy BTR%R9 6 27 3 54+ 63, 800 65,100 | -2.0

# - 6 AT KRIBHT1 4% 6 62, 000 62,700 | -1.1

M -7 AT WHEZFHE1251%3 1 53, 700 54,500 @ -1.5

# - 8 AT RHEF KI5 09 6 & 1 24, 600 25,400 | -3.1

# -9 AT MHPEFET 6 8 53 2 38, 700 39,600 | -2.3

# - 10 AT wmHEFEI 1 6 7% 24+ 53, 700 54,600 -1.6

% - 11 A BEEPBTNPEL 12 1842 34 48, 800 49,800 -2.0

BH 5 - 1 AT FIR589%6 104, 000 107,000 = -2.8

B 5 - 2 AT BATFEER 261 0%6 84, 300 86,100 | -2.1

BH 5 - 3 AT mEFAT1932%1 39, 300 40,300 -2.5

B 5 - 4 AT APFEFAP 1 2 1F 245 57, 500 59,000 | -2.5

BH 5 - 5 AT HTFHRRT78EF?2 78, 800 80,400 = -2.0

BH 7 - 1 AT TEREF F)IES559%F1M 64, 500 65,600 @ -1.7

EH 9 - 1 AT JERCHT M AN 1% 14+ 25, 000 25,800  -3.1

MEEO10 - 1 A T BRFTHRIB7 9 8% 2 36, 300 37,100 | -2.2

B 10 - 2 AT BEMSFRIS 7 0% 7 40, 800 41,800  -2.4

H 10 - 3 AT HiT+7T#H 4 6 &K 44+ 40, 000 41,000 -2.4

MEHO10 - 4 A T KEFE=H206 2%1 8 39, 600 40,200 @ -1.5

MEMH 10 - 5 A T BRFUEHE 9 6 4% 1 37, 900 38,300 -1.0

W 10 - 6 AT mE1209%K4 45, 800 47,000 -2.6

#EE 10 - 7 AT T TS 3 0 3%F 3 1 43, 600 44,500  -2.0

BEHE -1 BEHEET BRdbk4 TH12%3 80, 200 81,800 | 2.0 [HUt4—12-24)

T -2 BEHEET BedE2 TH8HF1 1 82, 500 83,900 -1.7 | M2 —8—-23)

T - 3 BEHEETH LEmiT 2 8% 1 046 61, 000 62,400 -2.2

* IR -4 BEHEET FE/NI2TH4%F1O 86, 200 87,500 -1.5

T - 5 BEHEET KM1TH14%12 75, 000 75,800 | -1.1

T - 6 BEHEET INETFER25 7E2 2 75, 000 75,800 | -1.1

T -7 BEHEET ANFITA4TH1901%S5 56, 200 57,400 | —2.1 | T4 —2—17]

BEHE - 8 BEHEETH PEAIATHLOE2 24 81, 000 82,500 | -1.8

T -9 BEHEETH Ty NTIEE 1 25 573 75, 900 77,300 | -1.8

T - 10 BEHETH EHHTEEE1 82 1% 34 29, 900 30,900 | -3.2

BEEE 5 - 1 BEHEETH SET3TH102%F44 89, 600 92,700 | -3.3 THMT3—3-37)

BEHE 5 - 2 BEHEETH ART4TH710%&1 80, 500 82,800 | 2.8 [AN4—10-31]

B 7 - 1 BEHEETH e =fah213%K2 67, 900 69,600 -2.4

e 10 - 1 BEHEETH RESETATHEH447E2 47,500 48,700 -2.5

BEHE 10 - 2 BEHETH — 2 0% 20 42, 800 43,800  -2.3

e 10 - 3 BEHEETH FHMTHT7 9 3%3 41, 500 42,400 | -2.1

BEEE 10 - 4 BEHEETH FAEBEMATRES 2 0% 39, 600 40,600 -2.5

*HI| -1 I FR3THS 1H 73, 200 75,000 | -2.4

gl - 2 B kM2 2 4% 63, 000 64,500 -2.3

H1| -3 H1 B ST H 9 8 8% 7 50, 500 50, 500 0.0

Hl - 4 Bl o m2THG6%F13 66, 100 66,500 = -0.6

gl - 5 B ST THZ21 2844 67, 800 69,000 1.7 | Aft1—-16—12]

*ETHAT AR & O Bl S 2 7R3,




FEHES AR ——— 224FAMRE | 2UARAER  EEhER .
E 5 EE PRAE - 4% (M/m)  (m/md) | (%) EERE
#11 - 6 B HEL56 1%3 4 50, 400 52,500 | —4.0 | T¥EA14—1 3]

# -7 #IIT THTE/ A283%F25 35, 200 36,100 | 2.5

#11 - 8 #IIT AIRTHEF1 41 0% 9 34, 500 35,500 | -2.8

#11 -9 #IITH Wrim1TH19%11 50, 000 51,000 -2.0

B - 10 B BREEETA/ AN 1558% 22, 800 23,400 | -2.6

# - 11 B TIRFE=ZA 487 9%5 20, 800 21,400 -2.8

# - 12 B KMFHMEHRS 36 7F1 16, 000 16,300 @ -1.8

i 5 - 1 BT ERET S &4 N 151, 000 155,000 | -2.6

i 5 - 2 BT HINFPERT 4 1 7% 3 73, 000 75,000 | 2.7

Bl 5 - 3 #IIT M2TH1LI1%&1 113, 000 115,000 | -1.7 T(#2—1—16]
I 5 - 4 B BB THAN S5 7 3% 29, 100 29,900 | -2.7

#)II 5 - 5 #IITH KR FHLR 45 5% 1 37, 000 37,800  -2.1

Wi 7 -1 #IIT MHET 025 0% 14 52, 000 52,800 | -1.5

il 9 - 1 #IIT TEATIEF 2 4 3 5%&4 30, 900 31,500  -1.9

253 -1 HREE T THEFE+AIL3 7%/1 20 70, 800 71,500  -1.0

253 -2 2] MHIL3TE10%ES 71, 200 72,700 -2.1 | THHILI3— 10— 6]
253 -3 BRAE T HE3TH19%9 101, 000 103,000 = -1.9 | ME#E3 1910
253 -4 R T EM1ITH1L184%1 73, 400 74,300  -1.2 | TEMI1—9 5]
253 -5 MR ZAET2TH1035%4 66, 400 68,000 = -2.4 [HWT2-12-5]
253 - 6 R T MR H4 TH1 3%S3 82, 000 82,800 @ -1.0 | (M4 4— 13- 3]
253 -1 R T THHTEH26%F15 53, 500 55,000 -2.7

253 -8 MR EK2TH430%S5 67, 400 68,700 | -1.9 T&k2—6—3]
253 -9 e BEMSTH1%&F131 65, 300 66,600 @ -2.0 T#M5-24—109)
*FRAL - 10 BERCHT A2 TH8 1 8% 64k 79, 000 80,000 = -1.3 | eIz 423
253 - 11 AR T HHE4THS%EL 4 66, 500 68,000 | -2.2 [Tt#4—5-38]
253 - 12 FERE T I 5 T o 0= AT 3 7 8 % 1 54, 300 55,300 @ -1.8

BB 5 - 1 BT B3 TH236% 67, 000 70,500 5.0 @ T#EE3-3-29)
BEEZ 5 - 2 BT HE1TH15%1 9%+ 112, 000 115,000 | -2.6 [H#E1—15-13]
R 5 - 3 2] EHEBFEHHRA0 9FEL 044 65, 400 66,800  -2.1

BEEZ 5 - 4 AT MHIL2 TE9®EL 3 79, 900 81,800 @ -2.3  Tdiiz—9—-26]
B 5 - 5 BT I IT AT\ 6 2 33 4 4k 68, 200 70,800 | -3.7

MR 7T - 1| GEER R RETEW1586%F1 46, 200 - -

B 10 - 1 BT HRTRST7 2 1% 26, 400 27,300 | -3.3

MRS 10 - 2 AT HHEIT3 TH2%S 47, 500 48,400 | -1.9

MR 10 - 3 AR T T 5 6% 47,100 48,600 | -3.1

BEE 10 - 4 FEAGTH NI RO 4 5 8 F 454 36, 100 37,500  -3.7

WEYE - 1 mEGT JIEHTAHER4 5 7ES 78, 000 79,000 | -1.3

R - 2 HBEGT FETHEO 189 2% 1 24t 96, 000 96, 000 0.0

MEsE - 3 g AR TEEE 4 7 7K 654 68, 000 69,000 = -1.4

MEsE - 4 MBS FET T/ M1629%4 85, 200 86,200 | -1.2

WEYE - b MESGT RIKTIREI2 3 8% 1 14 66, 500 67,500 | -1.5

WMEsE - 6 mEST AR TEY 6 2 3%S 72, 800 73,500  -1.0

WY 5 - 1 mESGT JIIEHTRAE6 4 3& 54 105, 000 108,000 | -2.8

W 9 - 1 MEgGH B 1T H9 4% 14+ 26, 800 27,000 | -0.7

R 10 - 1 MBS LT RE1689%F10 51, 000 52,500  —2.9

RS 10 - 2 mESGT RHILTFR ARG T84 2% 4 52, 500 53,500 -1.9

B 10 - 3 BESETH  NEBmFERX ) 1158%F1 4 66, 000 67,000 | -1.5

S 10 - 4 ST PMTERFIL1674%25 48, 500 48,800 | 0.6

EnTis -1 e sa il FEL3TH3IEL?Z 67, 200 68,000 | -1.2

EnTis -2 e sa il BERT 1 5% 2 14+ 64, 100 65,000 @ -1.4

P -3 e sa il BHEHMS5 9 1% 35, 600 36,000 | -1.1

EnTis - 4 e sa il TIFE1TH10%18 50, 400 51,400 -1.9

EnTis -5 e sa il IR /521 90 5% 8 39, 500 40,400 | -2.2

EnTis -6 e sa il JIEFTEEM3 1 2%3 22, 700 23,300 @ -2.6

EnTis -7 e sa il BETEMT7 84%4 23, 900 24,500 | -2.4

EnTis -8 e sa il EHTIIM135 7%&7 37, 200 37,900 | -1.8

W 5 -1 Ensa il SEHT 1 4% 4 68, 300 70,600 | -3.3

[ 5 - 2 Ensa il LB AR 8 1 4% 34t 51, 000 51,400 | -0.8

"7 -1 Ensa il EHTHM1202%1 41, 700 42,600  -2.1

R[H 9 - 1 I T RmS 4 8% 1 37, 500 38,400 | 2.3

*ETHAT AR & O Bl S 2 7R3,




R A4 ——— 224FAMAG 2UARANIKE | A EhER .

A i (m/m) /D ()RR
T H -1 T ANTH748%45 56, 700 57,800 | -1.9 | IATE38—16]
TH 5 -1 THET —TH137%A4 108, 000 111,000 @ -2.7 [—~TH3-9]
biztig -1 I TR Refar2 1 6 &1 1 93, 500 93, 500 0.0
P - 2 HEEF T PelFE kA1 10 3% 2 3 98, 500 98, 500 0.0
e -3 R T e 1522%1 3 75, 500 76,000 | 0.7
P - 4 HEEF T FUBHEFEES 1 6% 9% 100, 000 100, 000 0.0
W 5 - 1 HEEF T ST bR 4 4 23 24k 120, 000 120, 000 0.0
W o9 - 1 YT SRFHILT 8 F 24+ 43, 300 43,500  -0.5
W 10 - 1 I FMFEeER1465%34 83, 500 84,000 -0.6
W10 - 2 I EEFH3112%32 65, 000 66,500 -2.3
W 10 - 3 I ARG 2 1% 1 6 70, 500 70, 500 0.0
e 10 - 4 HEEF T FEIFREE2255%1628 8, 200 8,700 @ -5.7
i) -1 e T B )11 04 0% 140 72, 500 73,300 | -1.1
e - 2 T MEHFLAZ397TES 67, 400 67,600 @ -0.3
H7E - 3| HrkE-1 Wi RN HETAE135%&1 61, 600 62,500 -1.4
e - 4 | BrfE-2 Wi HERTEEE AR 30 1 8% 3 50, 400 52,000 | -3.1
W 5 - 1 PE T FR3THL13%13 74 92, 100 95,000 @ -3.1 | [##ik3—3-33]
e 9 1 e T HEFET3425F% 26, 400 27,400 | -3.6
WP 10 - 1 e T HATTHM2 8 2 0% 6 39, 000 40,100 -2.7
WivE 10 - 2 e T FEBTERES 91 6 &5+ 32, 800 33,800 | -3.0
Fo 1 CiNER oo BEmoE 1 8 0% 1 69, 000 71,000 | -2.8
Eii=) -2 FEf EEFTHIM6 5 1% 3 66, 500 68,500 -2.9
Fa -3 FEH MR F R 2 3 7 &S 25, 500 26,500 -3.8
Eii=) - 4 FEH FHEFTRE2 66 6 %1 44 52, 000 54,000 | -3.7
Eii=) -5 FEf B BTRIE1 7% 37, 000 38,400 -3.6
Eii=) -6 FEf EZ&7IFN80F 1 36, 000 37,300 | -3.5
Eii=) -7 FEH BINFEX¥354%1 18, 700 19,000 -1.6
Eid=) -8 FEH FABETEANT34F1 39, 400 40,200  -2.0
#HE 5 - 1 FEf HWABETIHT 6 2 6% 4 109, 000 113,000 -3.5
HE 5 - 2 FEH +EFHO466%1 4 77, 000 80,500  -4.3
#HE 5 - 3 FEH FHPMRTHET 3 5 5% 2 50, 000 51,500 -2.9
FHE 5 - 4 FEH JUEFHE46 0% 3 47, 300 48,000 -1.5
a1 HHRTET FEATFE/IR156 58K 14+ 20, 700 20,900 | -1.0
e - 2 T AT TR 4 7 7T/ 1 15, 000 15,300  -2.0
e - 3 R AP TEE1 10 4% 8 18, 800 19,500 -3.6
e - 4 Wi APFEMRS5 3 72F10 22, 300 22,700  -1.8
e 5 - 1 ARG BT FREEES 34 2% 2 31, 200 32,000 @ -2.5
)1 -1 H ) WM2TH106%&F1 44, 200 44,500  -0.7
)1 -2 )17 WHEEH 1 0 4% 24 25, 500 26,000 -1.9
)1 -3 )17 JNEFH»HT1908%4 13, 100 13,500 -3.0
) 5 - 1 )17 HH1%&16 70, 700 72,500 | -2.5
FHomE -1 FEOET RETHFT4 6 5% 3 77, 000 78,500 | -1.9
gEoE - 2 FEoET REFFEHO5 8% 87, 000 87,700  -0.8
gEoE - 3 FEOET FAFEA}E620F1 87, 500 88,000 -0.6
FrEomE - 4 FEOET Z“mRTH%150%6 83, 300 83,800 = -0.6
gEoE - 5 PFEOET HETHEITF120%9 84, 500 85,000 -0.6
FEoE 5 - 1 PFEOET HRTHZE241%F2 96, 800 97,000 -0.2
FEoE 5 - 2 PFEOET MiETEM7 3 3F4 111, 000 113,000 -1.8
FEoE 5 - 3 FOoOET HETFE /B2 9 9% 1 1 91, 000 91,500 -0.5
greEoE 10 - 1 FEOET MILHTEHA7 6 03F 2 60, 500 62,200 -2.7
FEoE 10 - 2 PEOET ELLUAFHRAL 2245354 9, 000 9,300 @ -3.2
Liovd) | W2 BT BRSO 4 1 7% 2 31, 600 32,400 | -2.5
BzF - 2 Wi T WHEE1THS 0% 48, 000 48,500 -1.0
Pz 5 -3 Wi d BTt fE2306%F9 39, 700 40,600 = -2.2
Lo | W2 MBS 6 % 1 47,500 48,700 -2.5
o 5 - 2 | BER WZET FETHE4 8 6% 9 44, 400 -
zlE 9 - 1 Wz B ML F AP 6 16 5% 1 24, 200 24,800 | -2.4
W -1 BSHRGTE REARTRR¥1280%37 33, 500 34,500 | -2.9
WHEE - 2 a5 6 4% 1 144 52, 500 54,200 | -3.1
HEE 5 - 1 mersprEnr FRETIE KR4 1 7% 1 76, 800 78,200 | -1.8

*ETHAT AR & O Bl S 2 7R3,




FEHES AR . 204FAMIRE | 214FAMIRE ASEhER .
& B F% FRE - s (A/nd) | (/) (%) EEET

JAT -1 AR R Bl 1 26 0% 7 8 23, 500 25,500 | 7.8
JAT -2 SRR, N e B 6 4% 5 33, 600 34,800 -3.4
e 5 - 1 SRRy T 4 9 5% 8 49, 500 50,200 -1.4
mtE - 1 wimsanr ERTHEES5 05 % 16, 200 16,600 | -2.4
MtE. - 2 i PATE /134 3F 14+ 26, 500 27,100 | -2.2
FAIRE -1 PRI TS AR 7 175 47, 000 50,200 —6.4
FAIRE -2 HERMARIT S EH 3 9% 2 21, 000 22,500 | -6.7
ARG 5 - 1 HERMARTRT AR A 3 6 3 % 6 4b 54, 300 57,500 -5.6
el -1 et B THZ 1 56 5% 1 54 42, 600 45,500 @ -6.4
EHE - 2 rpemmpror (ZREARB 1 1 3 6% 2 51, 000 53,700 -5.0
R - 3 T FAETRAMRL 1 36%5 26, 400 28,000 | -5.7
FEFT - 4 s ZEBT RN 6 6 3% 1 37, 300 39,500 5.6
EET 5 - 1 wemmbr o (AR E 2 7 0% 1 66, 300 69,000 = -3.9
P -1 MR T (TR /B2 5% 9 104, 000 104, 000 0.0
P - 2 mrEs T AT 1 0 0% 64+ 96, 000 96, 000 0.0
P -3 MR N {55 6 8 5F&K 7 96, 000 96,500  —0.5
i - 4 P RRE I RS FIRIL 7 2 3% 3 2 80, 500 81,300 @ -1.0
W@ 5 - 1 MRS FE A 5 23K 2 110, 000 111,000 | -0.9
BrE 10 - 1 mrEs sl AT 36 7HF 1 24+ 90, 000 90,500 = -0.6
WHKET - 1 seoftaRikET IR TR RIF 2 1 8 % 6 4 116, 000 117,000 | -0.9
EAKET - 2 BT (R TFHREEf 2 2% 14 126, 000 126, 000 0.0
EKET - 3 BEURRE kT fEA T 1 0 8 3% 4 97, 000 99,000 -2.0
TEAKET 5 - 1 BEfURREkET (R R 01 4 3% 74 142, 000 142, 000 0.0
ER -1 BRAGRRRIRNT P — TR 6 6% 3 3 103, 000 103, 000 0.0
ER -2 BEURRESRET BRIP4 4 0% 24 110, 000 109, 000 0.9
ER -3 BeEEb R AT RT3 1 83% 3 3 128, 000 128, 000 0.0
R 5 -1 BRUERE RN T AP R 1 34 4% 2 133, 000 133, 000 0.0
R 10 - 1 s ERy FRETTY 7728 9%9 66, 300 66,500 | -0.3
NN -1 Bt/ by IR 6 1 3%/ 2 52, 000 52,700 | -1.3
NI -2 BeEE LT CEBTIEE 350%2 1 44, 000 45,200 | -2.7
NN -3 BRGRRny ZEETH 1 5 2% 1 4 31, 000 31,800 | -2.5
AN ITE | Bt by RN A 5 4/ 2 7 55, 200 57,000 | -3.2
AL 10 - 1 EEHCRRNLET KSR 6 4 1 27, 000 28,000 @ -3.6
AL 10 - 2 BREELMUT HAARTE LG S 18 7 41, 600 42,200 | -1.4
AN 10 -3 B/ by BRI 4 9 3F S 35, 700 36,300 | -1.7
AN 10 - 4 seoftrp ey IR TERS 8 3% 1 1 34, 400 35,000 | -1.7
HH -1 RS I EHETFHR)IE3 7 9EFT 47, 400 48,100 | -1.5
& H -2 BEER I RT3 41%10 44, 700 45,500 @ -1.8
HH 5 - 1 R (EE PR 2 23 2% 1 1 48, 000 49,100 -2.2
JIRA - 1 wsapiar FREFREF 105 0% 1 20, 100 21,500 | -6.5
JIRRA - 2 pesp A BEILTARRMML 46 274 14, 200 15,000 | -5.3
JIARAS -3 HISERIATT TSHTHEEAR 1 0 0 1% 34+ 15, 000 15,800 = 5.1
JAEAS - 4 pes ARy BRI+ 3 1 8% 2 4,760 4,950 = -3.8
JIRA 5 - 1 SRERS skl TEHERYERTL215%84k 30, 200 - -

A -1 JEERIARIT PEETRO27 4 3%S8 33, 200 33,800 | -1.8

7 - 2 JEERIARIT R THEDLE 2 3% 1 6 30, 800 31,700 | -2.8

H 5 -1 JEERRARIT R+ RRT1 00 3% 1 1 44, 000 45,200 -2.7
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